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QUESTION 1

Sabrina is configuring the security settings for devices that will be used with the IBM Notes Traveler server. The default
for the "Require Device Password" field in the server document is "Disabled”. Which statement describes the "Require
Device Password" setting?

A. enables the requirement that devices have screen lock passwords

B. enables the requirement that Notes Traveler replication use passwords

C. enables the requirement that Notes Traveler applications use passwords

D. enables the requirement that devices use passwords before wiping the device

Correct Answer: A

QUESTION 2

What does the NTSUsage log show?

A. the number of users are logged onto the server

B. the number of devices are logged onto the server

C. documents that are transferred between the devices and IBM Notes Traveler

D. IBM Notes Traveler communication between Notes Traveler and the mail server

Correct Answer: D

QUESTION 3

Tim is deploying an IBM Notes Traveler on IBM i server to support 1000 devices. Given that each device requires 2.5
MB of memory on the Notes Traveler server, what setting must Tim set to ensure Notes Traveler can support so many
devices?

A.NTS_JVM_HEAP=2500

B. NTS_JVM_HEAP_SIZE=2500

C. NSF_BUFFER_POOL_SIZE_MB=2500

D. JAVA_HOME=/QOpenSys/QIBM/ProdData/JavaVM/jdk60/64bit

Correct Answer: D

QUESTION 4
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IBM Notes Traveler High Availability Pools require which technology to provide failover to clients?
A. firewall

B. load balancer

C. reverse proxy

D. packet shaper

Correct Answer: B

QUESTION 5

To install IBM Notes Traveler on Linux, which OS user profile must be used?
A. the root user

B. the Notes Traveler user

C. any user profile with write authority to the file system

D. the user that the target IBM Domino server to install over runs under

Correct Answer: A
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